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Ping from wireless connected laptop 1 to network:

==  Ping DGN2200v4 (192.168.0.1) from laptop1 (192.168.0.101)

PING 192.168.0.1 (192.168.0.1): 56 data bytes

64 bytes from 192.168.0.1: icmp_seq=0 ttl=64 time=2.703 ms

64 bytes from 192.168.0.1: icmp_seq=1 ttl=64 time=2.323 ms

64 bytes from 192.168.0.1: icmp_seq=2 ttl=64 time=2.184 ms

== Ping printer (192.169.0.112) from wireless laptop1 (192.168.0.101)

ping 192.168.112

PING 192.168.112 (192.168.0.112): 56 data bytes

ping: sendto: Host is down

Request timeout for icmp_seq 0

Request timeout for icmp_seq 1

Request timeout for icmp_seq 2

Request timeout for icmp_seq 3

ping: sendto: No route to host

== Ping access point (192.168.0.3) from wireless laptop1 (192.168.0.101)

ping 192.168.0.3

PING 192.168.0.3 (192.168.0.3): 56 data bytes

Request timeout for icmp_seq 0

Request timeout for icmp_seq 1

Request timeout for icmp_seq 2

Request timeout for icmp_seq 3

== Ping wired desktop (192.168.0.107) from wireless laptop1 (192.168.0.101)

ping 192.168.0.107

PING 192.168.0.107 (192.168.0.107): 56 data bytes

Request timeout for icmp_seq 0

Request timeout for icmp_seq 1

Request timeout for icmp_seq 2

Request timeout for icmp_seq 3

Ping from wireless laptop1 to wireless laptop2:
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== From wireless laptop1 (192.168.0.101)

ping 192.168.0.109

PING 192.168.0.109 (192.168.0.109): 56 data bytes

64 bytes from 192.168.0.109: icmp_seq=0 ttl=64 time=17.860 ms

64 bytes from 192.168.0.109: icmp_seq=1 ttl=64 time=3.375 ms

64 bytes from 192.168.0.109: icmp_seq=2 ttl=64 time=8.096 ms

64 bytes from 192.168.0.109: icmp_seq=3 ttl=64 time=4.370 ms

Ping from wired desktop (192.168.0.107) to network:

==  Ping DGN2200v4 (192.168.0.1) from desktop (192.168.0.107)

ping 192.168.0.1

Pinging 192.168.0.1 with 32 bytes of data:
Reply from 192.168.0.1: bytes=32 time<1ms TTL=64
Reply from 192.168.0.1: bytes=32 time<1ms TTL=64

==  Ping  printer (192.168.0.112) from desktop (192.168.0.107)

ping 192.168.0.112

Pinging 192.168.0.112 with 32 bytes of data:
Reply from 192.168.0.112: bytes=32 time=1ms TTL=255
Reply from 192.168.0.112: bytes=32 time=1ms TTL=255
Reply from 192.168.0.112: bytes=32 time=1ms TTL=255

==  Ping  access point (192.168.0.3) from desktop (192.168.0.107)

ping 192.168.0.3

Pinging 192.168.0.3 with 32 bytes of data:
Reply from 192.168.0.3: bytes=32 time=1ms TTL=64
Reply from 192.168.0.3: bytes=32 time=1ms TTL=64
Reply from 192.168.0.3: bytes=32 time=1ms TTL=64

== Ping laptop1 (192.168.0.101) from from desktop (192.168.0.107)

ping 192.168.0.101

Pinging 192.168.0.101 with 32 bytes of data:
Request timed out.
Request timed out.
Request timed out.

Ping statistics for 192.168.0.101:
Packets: Sent = 3, Received = 0, Lost = 3 (100% loss)
== Ping laptop2 (192.168.0.109) from from desktop (192.168.0.107)

ping 192.168.0.109
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Pinging 192.168.0.109 with 32 bytes of data:
Request timed out.
Request timed out.
Request timed out.
Request timed out.

Page 3


